
(read prop)


org-read-prop


(and

(stringp prop)


(not (equal prop ""))


(out (string-to-number prop)


Data


yes


no


(equal out 0)


(or

(equal "(" (substring prop 0 1))

(equal "'" (substring prop 0 1))


If the first symbol of prop is

( or ‘


yes


yes


(string-match "^\\(+0\\|-0\\|0\\)$" prop)


0


return prop


yes


no


return out


no


(progn

(set-text-properties


0

(length prop)


nil prop)


We set all the properties,

associated with prop to nil


return prop


no


end


Why do you need this 0?

It is redundant. Why


don’t you want to use

unless or when not?


Can you explain, what

are you doing here.


Reading from a prop

where?


Convert the string property PROP to a number if

appropriate.


Otherwise if prop looks like a list (meaning it starts

with a


'(') then read it as lisp 
maybe, as list?
, otherwise

return it unmodified as a string.


prop - string or list


Data


What are you trying to

find out with this regexp?



